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Explain two benefits to a country being part of a trading bloc – use examples to support your answer. (8 marks)
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Explain one disadvantage to the UK of being a part of European Union. (5 marks)
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Table 33.1 Trading blocs and their features

Name of the trading bloc Trading bloc members Main features of the bloc

EU (European Union) 27 members (after Britain's Free movement of goods and labour with a
withdrawal) led by Germany and | single market backed by common, EU-wide
France legislation

ASEAN (Association of Ten members including Thailand | Free movement of goods; started in 1965 with

South East Asian Nations) | and Vietnam, but excluding China | five members; members have enjoyed high
economic growth

NAFTA (North American America, Canada and Mexico Free movement of goods; just three members:
Free Trade Association) two rich and one much less so (Mexico)
The effect of tariffs is to: O HOW bUSinesseS Compete

@ ‘protect’ home producers by making imports

artificially expensive, which is likely to make the Internationa uy





image2.png
x | [ Morgan Crump - OutiookWeb # X B View Page

l W Weebly
< c

Apps @ 12c56n732-IDV_UR...

» w1 | 2 Pl

Navgste | Lesson: | Messages | Reporss

© 125873 [} Facebooklogo mm Footbal

Free tomsil [ SuggestedSites @, amazoncouk [ mainpagespring=..

0

& my.dynamic-learning.co.uk/ViewPage.aspx?tid=0¢70ccb4-abc6-4639-817e-d6e00d579fbbatfn=dps0162-0163.swf

1] Imported From I

B, The Pirste sy - 7o

@ NewTed »

Enter a term, o just click search | @

Mr Pujara 1 -

[ Other boskmarks

Y 2

smin Huo | Help

© i\ Edexcel GCSE (5-1) Business, Second Edition

lusions 25 that would have been impossibie. Globalisation
also implies more opportunities for bright people
bad thing,  to be able to work anywhere they choose — perhaps

sut, but most
a successful

Tokyo for a few years, followed by New York, before
returning to Britain. But with attitudes changing in

vorld. Costa
reloping the
sucks). Years

America and Brexit in Britain, perhaps the steady
growth of globalisation is coming to an end.

way to succeed against rivals from overseas
Aith no barriers, for example no tariffs

y for countries to trade with each other and to buy global goods,
as Costa Coffee.

) overseas.

ave agreed to have free trade within external tariff walls.

xt on page Eggs (Creme Eggs with a green filling)
globally. Managers see no reason to change

S the packaging, labelling or advertising

e approach, because English text will make
the products seem more American and,

Ir the free

therefore, Halloweeny. Pricing will be higher, }
however, partly because of the costs of

5. getting the new brand established, and also
fic with because a high price gives credibility to a

B ML)

Practice questions

Total: 20 marks.

‘Jean genie Lidl magics up £5.99 denims,
shouted the headline in a newspaper last
weekend as it extolled the brilliance of the
cut-price supermarket chain in once again
undercutting its rivals. The German retailer,

¢ it explained, was continuing its assault on the
traditional supermarket giants by targeting the
high street fashion-conscious with jeans selling
for an astonishing £12 less than a similar pair in
Tesco

How could these retail wizards do it? The
¢ unchallenged line from Lidl was that its huge
buying power was the answer. It was just good
at doing deals. But let us be clear. This is not
magic. It is not Harry Potter making these jeans,
itis a young woman in a factory in Bangladesh
and one of the main reasons they are so cheap is
that workers like her are paid as little as 2p for
every pair they make

Still, £5.99 is quite an achievement when even
Primark - no slouches in the cost-cutting field -
have only managed to get their lowest price
down to £8. So how do they do it? Lidl surprises’
is the slogan the supermarket currently uses

to punningly flog its wares, but it is no surprise
to discover that the firm, like many of the

British high street retailers, does much of its
clothes shopping in Bangladesh, where the

i minimum legal wage for a garment worker is
23p an hour.

{ What goes into the cost of a pair of
: jeans?

1

2

3

Outline one reason why a government
might set a minimum legal wage

State the minimum hourly wage for a
garment worker in Bangladesh

Outline one reason why Lidl might want to
offer jeans at £5.99 a pair.

Analyse how the case of Lidl's £5.99 jeans
could be used to criticise globalisation
Lidl enjoyed huge sales of its £5.99 jeans,
but is wondering what to do now that sales
have slipped back. Management sees two
options:

* Option 1: Push to get a new supplier in

Bangladesh to make jeans that can be sold |

for £4.95.
+ Option 2: Make slightly better jeans and
charge the Primark price of £8

Justify which one of these options the
management should choose
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35 Costa Coree.

1overseas.

ave agreed to have free trade within external tariff walls.

xt on page Eggs (Creme Eggs with a green filling)
globally. Managers see no reason to change
the packaging, labelling or advertising

O’ZDVemem approach, because English text will make
- the free the products seem more American and,
therefore, Halloweeny. Pricing will be higher,
however, partly because of the costs of
5. getting the new brand established, and also
fic with because a high price gives credibility to a
brand in a country such as Japan. So, instead }
L how of a price of around 60p in Britain, a Screme
g mixto Egg will be the equivalent of £1 overseas.
5 Discuss whether the globalisation of
el Halloween/Screme Eggs is a good or bad
G thing for chocolate producers such as
s Screme Cadbury.

£ M= pre—

magic. It is not Harry Potter making these jeans, * Option 1: Push to get a new supplier in :
it is a young woman in a factory in Bangladesh Bangladesh to make jeans that can be sold
and one of the main reasons they are so cheap is for £4.99. E
that workers like her are paid as little as 2p for + Option 2: Make slightly better jeans and H
every pair they make charge the Primark price of £8 :
Still, £5.99 is quite an achievement when even Justify which one of these options the H

Primark - no slouches in the cost-cutting field -
have only managed to get their lowest price
down to £8. So how do they do it? Lidl surprises’
is the slogan the supermarket currently uses

to punningly flog its wares, but it is no surprise
to discover that the firm, like many of the

British high street retailers, does much of its
clothes shopping in Bangladesh, where the
minimum legal wage for a garment worker is
23p an hour.

management should choose. o

‘What goes into the cost of a pair of
jeans?

i & Material: £2.40; zip 10p; buttons 4p; rivets 1p;
label 7p; thread 19p

i Washing and checking: 47p

* Labour: 2-9p per pair (23p an hour and output
of ten pairs of jeans per hour = 2.3p per pair)

* Shipping: 80p
i Source: The Observer, 13 March 2016





